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Bl K Bl K Bl K BOKRE | BERRAE S | ERR A M s | WERR A M s | ERR P Ml = AR
Az [l ¢s)
DIP ¢ 75 P¢ 75 DIP ¢ 100 | DIP ¢ 100 DIP ¢ 75 DIP ¢ 75 DIP ¢ 100 VP ¢ 75 = p‘I’
DP=0.80m | DP=1.1m DP=0.8m DP=1.2m DP=0.80m | DP=1.3m DP=1.2m DP=0.8m
HUiE 397 | HiiE 397 | dij 39%Y | Hii 397 | HiiE 39%Y | HuiE 397 | HiiE 397 | dijE 397
SRR G T t=Hcm m| 814.4 5.3 3.0 2.1 5.4 6.1 5.6 788.3 11630.2 | 1630
P ey e il K E N A R R R A R I
0.20BH t=10cmPL T ni| 244.0 1.2 0.6 0.3 1.3 1.6 1.4 236.1 486.5 487
I T 0.20BH m| 204.9 1.4 0.5 0.3 1.0 2.1 1.7 290.4 502.3 500
HRT (g4 T) 0.20BH m| 119.2 1.0 0.3 0.2 0.6 1.6 1.3 212.5 336.7 340
[ B 1T Jett nf| 724 | 03 0.2 0.1 0.3 0.3 0.3 54.3 | 128.2 | 128
&ALy T AS m| 12.2 0.1 0.03 0.02 0.1 0.1 0.07 11.8 24.42 24
mAEmARE || |
TERE T t=19cm ni| 244.0 1.2 0.6 0.3 1.3 1.6 1.4 236.1 486.5 487
LS R A I A I N N A R AR AR A
T t=15cm ni| 244.0 1.2 0.6 0.3 1.3 1.6 1.4 236.1 486.5 487
TN L =07 N N A (N N A A AN AR IR I
FJE 1T () t=5cm PK3 ni| 244.0 1.2 0.6 0.3 1.3 1.6 1.4 236.1 486.5 487




IERAERTER

il s no Nz ! o £oE o
O EKE HE 397 DIP ¢ 75 0.80 406.62
@  EKE HiE 394 DIP ¢ 75 1.10 2.03
@  EKE HiE 394 DIP ¢ 100 0.80 0.85
@ @ BoKE HiE 394 DIP ¢ 100 1.20 0.41
© BEsRERE #E 398 DIP ¢ 75 0.80 2.10
® BEsREWE #E 39 DIP ¢ 75 1.30 2.40
@ BEsREWE #E 398 DIP ¢ 100 1.20 2.15
BERREME BE 394 VP ¢ 75 0.80 393.56




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=0.80m

R R DIP ¢ 75 MRS 0.84 m
SR 0.05 m BeEE 050 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 406.62 406.62
SRR T
t=5cm 406.62 2 + 0.60 X 2 = 814.4
EfiE R EUE T
As t=10cmPL 406.62 0.60 = 244.0
FE AR T
406.62 0.60 X 0.84 = 204.9
WERT (B4E+)
0.60 0.50 - 0.093 2
X
7 = 4 ) X 406.62 = 119.2
A TG4 1) Skt
204.9 119.2 + 0.9 = 72.4
Ly T.(AS)
244.0 0.05 = 12.2
T E A T
FAYIARA t=19cm 406.62 0.60 = 244.0
RC-40
LT
FARFRE t=15cm 406.62 0.60 = 244.0
RM-40
F=ET
HABRET 270 t=5cm 406.62 0.60 = 244.0
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Bic K &

DIP ¢ 75mm DP=1.1m

R R DIP ¢ 75 MRS 114 m
SR 0.05 m BeEE 080 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 2.03 2.03
SRR T
t=5cm 2.03 2 + 0.60 X 2 = 5.3
EfiE R EUE T
As t=10cmPL 2.03 0.60 = 1.2
FE AR T
2.03 0.60 X 1.14 = 1.4
WERT (B4E+)
0.60 0.8 - 0.093 2
X
7 = 4 ) X 2.03 = 1.0
A TG4 1) Skt
1.4 1.0 - 0.9 = 0.3
¥ AL T.(AS)
1.2 0.05 = 0.1
T E A T
FAYIARA t=19cm 2.03 0.60 = 1.2
RC-40
LT
HARFERA t=15cm 2.03 0.60 = 1.2
RM-40
F=ET
HABRET 270 t=5cm 2.03 0.60 = 1.2
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DIP ¢ 100mm DP=0.8m

R R DIP ¢ 100 MRS 097 m
SR 0.05 m BeEE 053 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 065 m AS 0.05 m
PRHIZE R 0.85 0.85
SRR T
t=5cm 0.85 X 2 + 0.65 X 2 = 3.0
SRR U T
As t=10cmPL T 0.85 X 0.65 = 0.6
FE AR T
0.65 X 0.97 X 0.85 = 0.5
WERT (B4E+)
0.65 X 0.53 - 0.118 2
X
X 7 — 4 ) X 0.85 = 0.3
Ay T4 +) Skt
0.5 - 0.3 - 0.9 = 0.2
Ly T.(AS)
0.6 X 0.05 = 0.03
T E A T
FAYIARA t=19cm 0.85 X 0.65 = 0.6
RC-40
LT
HARMMA t=15cm 0.85 X 0.65 = 0.6
RM-40
F=ET
HABRET 270 t=5cm 0.85 X 0.65 = 0.6
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DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 127 m
SR 0.05 m BEE 069 m  RAEL
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHIZE R 0.41 0.41
SRR T
t=5cm 0.41 2 + 0.65 X 2 = 2.1
SRR U T
As t=10cmPL T 0.41 0.65 = 0.3
FE AR T
0.65 1.27 X 0.41 = 0.30
WERT (B4E+)
0.65 0.69 - 0.118 2
X
7 = 4 ) X 0.41 = 0.2
Ay T4 +) Skt
0.3 0.2 - 0.9 = 0.1
¥ AL T.(AS)
0.3 0.05 = 0.02
T E A T
FAYIAREA t=19cm 0.41 0.65 = 0.3
RC-40
LT
HARFERA t=15cm 0.41 0.65 = 0.3
RM-40
F=ET
HABRET 270 t=5cm 0.41 0.65 = 0.3
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DIP ¢ 75mm DP=0.8m

R R DIP ¢ 100 MRS 0.84 m
SR 0.05 m BeEE 050 m R+
BIFO 0.100 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 2.10 2.10
SRR T
t=5cm 2.10 X 2 + 0.60 X 2 = 5.4
EfiE R EUE T
As t=10cmPL 2.10 X 0.60 = 1.3
FE AR T
0.60 X 0.84 - 0.093 2
X 7 = 4 ) X 2.10 = 1.0
WERT (B4E+)
2.10 X 0.60 X 0.50 = 0.6
A TG4 1) Skt
1.0 - 0.6 - 0.9 = 0.3
Ly T.(AS)
1.3 X 0.05 = 0.1
T E A T
FAYARA t=19cm 2.10 X 0.60 = 1.3
RC-40
LT
HARMMA t=15cm 2.10 X 0.60 = 1.3
RM-40
F=ET
HABRET 270 t=5cm 2.10 X 0.60 = 1.3
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DIP ¢ 75mm DP=1.3m

R R DIP ¢ 75 MRS 134 2 m
SR 0.05 m BEE  1.00 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 065 m AS 0.05 m
PRHI R 2.40 2.40
SRR T
t=5cm 2.40 X 2 + 0.65 X 2 = 6.1
EfiE R EUE T
As t=10cmPL 2.40 X 0.65 = 1.6
FE AR T
0.65 X 1.34 - 0.118 2
X 7 = 4 ) X 2.40 = 2.1
WERT (B4E+)
2.40 X 0.65 X 1.000 = 1.6
A TG4 1) Skt
2.1 - 1.6 - 0.9 = 0.3
Ly T.(AS)
1.6 X 0.05 = 0.1
T E A T
FAYARA t=19cm 2.40 X 0.65 = 1.6
RC-40
LT
HARMMA t=15cm 2.40 X 0.65 = 1.6
RM-40
F=ET
HABRET 270 t=5cm 2.40 X 0.65 = 1.6
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JIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 127 m
SR 0.05 m BeEE 093 m AL
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHI R 2.15 2.15
SRR T
t=5cm 2.15 2 + 0.65 X 2 = 5.6
EfiE R EUE T
As t=10cmPL 2.15 0.65 = 1.4
FE AR T
0.65 1.27 - 0.118 2
7 = 4 ) X 2.15 = 1.7
WERT (B4E+)
2.15 0.65 X 0.930 = 1.3
A TG4 1) Skt
1.7 1.3 - 0.9 = 0.3
¥ AL T.(AS)
1.4 0.05 = 0.07
T E A T
FAYIARA t=19cm 2.15 0.65 = 1.4
RC-40
LT
HARFERA t=15cm 2.15 0.65 = 1.4
RM-40
F=ET
HABRET 270 t=5cm 2.15 0.65 = 1.4
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VP ¢ 75 DP=0.8m

R R VP ¢ 75 MRS 124 m
SR 0.05 m BeEE 090 m R+
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 393.56 393.56
SRR T
t=5cm 393.56 2 + 0.60 X 2 = 788.3
EfiE R EUE T
As t=10cmPL 393.56 0.60 = 236.1
FE AR T
0.60 1.24 - 0.089 2
7 = 4 ) X 393.56 = 290.4
WERT (B4E+)
393.56 0.60 X 0.90 = 212.5
A TG4 1) Skt
290.4 212.5  + 0.9 = 54.3
Ly T.(AS)
236.1 0.05 = 11.8
T E A T
FAYIARA t=19cm 393.56 0.60 = 236.1
RC-40
LT
FARFRE t=15cm 393.56 0.60 = 236.1
RM-40
F=ET
HABRET 270 t=5cm 393.56 0.60 = 236.1

PK—3







FLKEA R R

GXJ% ¢ 75mm

w B L B K& ¥oo& | W OAr
Ed A1 B T ¢ 75 403.3 m
o & W W T ¢ 75 30 N
% & T EE ¢75 97 N
% & T RGE ¢ 75 28 H
E2 & T GU>”7 ¢175 33 o
w5 &k E L ¢ 75 16 5
fa U X 7 E R E L A, 155 16 & AT
W ok B OB OB L H 1 & AT
2/ N R S - S B 2 & BT
7 7 v UV i F L ¢ 75 3 M
Vv vy MR ) ARk E L M35 3 1
AT =J7 )V ik FHSL L DIP ¢ 75 1 |
B &k B B W T DIP ¢ 75 4 N
g W\ os 7 — 7 L ¢ 75 479.4 m
% W oo v — b LT 401.3 m




B KE M E
GX# ¢ 100mm

w B L B & 4 =NV
Ed A1 e T ¢ 100 1.3 m
iE2 & €L RIE ¢ 100 1 H
E2 = T GU>7 ¢ 100 2 N
AT =J7 )V ik FESL L DIP ¢ 100 2 |
57 S - S 1 I T DIP ¢ 100 4 N
% B x v — b L 1.3 m
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as iy
B K B M B X
) i e | i i —arr | et | o | U0 bt (TO8S | i | ki
%ﬁ'% N biE at 45° 45° 300H 450H GTHX GTH| ¢pT5X ¢ 75| ¢ 7T5X200H | ¢ 75X 200H HO B 500 X690 500 X690
GX ¢ 75 84 18 102 4 3 2 2 4 3 2 1 2 1 2 1
GX ¢ 100 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
T VIR — AL AT U i =0k
FfEJER | VU-200 Akl [ESA FA4F GYU»” HoRT—7 HEEy—b
B ZAEL iz $ 100X ¢ 75 IR (A% )
GX ¢ 75 8 8 16 16 4 2 0 28 25 33 0 479.4 | 401.3
GX ¢ 100 0 0 0 0 0 2 1 0 2 0 0.0 1.3
24% | 402.6
g YA =n, L1 2 2T ﬁbi#% UL LT [
5 A " B 2 sn=pnggeey. | AT | KRR | (e | (EIREE | o | o= | BT
BT DA AR L 171 I s BIE | Gz i T B ol T T
R = BAlax el Zn) 7R ek e I WA T A, 1 | FRLE oIp
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GX ¢ 100 1.26 0 0 1 2 0 0 0 0 0 0 0 2 4

TR O

EHRT—7 T Ry — T

GX ¢ 75

479.4 401.3

GX ¢ 100
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MRS

GX7¥ ¢ 75mm A T R 406.616
DP=0.8m FAMRILRE 401.256
M Bt Bl i BT B & 3 &

=8 # GX#& 4.000 84 336.000
H B (=3 GX# 3.320 1 3.320
M 2l 3 GX# 1.390 1 1.390
H B (=3 GX# 1.000 1 1.000
M 2l & GX# 0.900 1 0.900
H B (=3 GX# 1.300 1 1.300
M 2l & GX# 2.700 1 2.700
H B (=3 GX# 3.260 1 3.260
M 2l 3 GX# 1.460 1 1.460
H B (=3 GX# 1.050 1 1.050
M 2l 3 GX# 1.000 1 1.000
H B (=3 GX# 1.000 1 1.000
M 2l 3 GX# 1.000 1 1.000
Z B (=3 GX# 1.000 1 1.000
oo o' o) GX# 3.550 1 3.550
4o wo'm o) GX'& 3.210 1 3.210
oo o' o) GX# 3.550 1 3.550
4 wo'm o) GX'& 1.780 1 1.780
oo o' o) GX# 1.660 1 1.660
4 owo'm o) GX'& 2.920 1 2.920
oo o' o) GX# 2.760 1 2.760
4o wo'm o) GX'& 1.280 1 1.280
oo o' o) GX# 1.020 1 1.020
4 wo'm o) GX'& 1.000 1 1.000
oo o' ) GX# 0.870 1 0.870
4 wo'm o) GX'& 0.800 1 0.800
oo o' o) GX# 3.800 1 3.800
4 owo'm o) GX'& 2.620 1 2.620
oo o' o) GX# 1.970 1 1.970
4o wo'm o) GX'& 2.270 1 2.270
it # 45° 0.400 4 1.600
[} = it (=4 45° 0.140 3 0.420
Z = & ¢ 75X 300H 0.680 2 1.360
Z 5 & ¢ 75X 450H 0.730 2 1.460
- % T T B ¢T5X ¢ 75 0.540 4 2.160
ik Lo 0.190 4 0.760




MRS

GX¥ ¢ 7T5mm i Hl T R 406.616
DP=0.8m FAMRILRE 401.256
Z) kB # # FRHE R B 8 i3
i) % bl i3 0.020 2 0.040
F & T = % 675X ¢ 75 0.440 3 1.320
Az n | 00N 1
AT 2L AR T HH ko HO 1
iH Kk i £ | ¢500x690H 1 (HEET)
it fE # | oM 2
o T X W ok & HH 2
He K 7 £ | ¢500X690H 2 (FEED)
Y7 by — v 8 | L ¢75 0.490 8 3.920
A AR N R Al I w5 ¢ 75 0.180 8 1.440
8 - B |H=510~690mm| A R 16
\% U = ¢ 200 16
#% & il B SR 28
£ & #h i FA4F 0.029 24 0.696
#% & il i GU»7 33




MRS

GX¥ ¢ 75mm I Hl At R 2.029
DP=1.1m A R IE R 2.029

% B #H ¥ MEHER B & i i
F 7] E GX%& 2.000 1 2.000

& Bl i T4 0.029 1 0.029




HEAaE
GX7 ¢ 100mm I OH i R 0.850
DP=0.8m FAMRILRE 0.850
Z) kB # # FRHE R B 8 i3
it 3 45° 0.420 1 0.420
x ff A % B | 100X 75 0.410 1 0.410
2 & il it RIGE 1
e & il o G 1




MRS

GX¥ ¢ 100mm i |l T R 0.410
DP=1.2m AR R 0.410
iz Bt B 3 FEHE & ¥ & I £
= B Ok % ¥ ¢ 100X ¢ 75 0.410 1 0.410
i3 & il i GUr7 1




g E G E GXJZ ¢ 75mm L=4.0m/A

Sik=Ik=s LBV CONE CEVE () PR il
1 3.320 Z 0.680 1
2 3.550 Z 0.450 1
3 3.210 H 0.790 1
4 3.550 H 0.450 1
5 1.390 1.780 Z 0.830 2
6 1.000 1.660 F 1.340 2
7 2.920 Z 1.080 1
8 0.900 2.760 Z 0.340 2
9 1.300 1.280 Z 1.420 2
10 2.000 1.020 Z 0.980 2
11 2.700 1.000 Z 0.300 2
12 3.260 Z 0.740 1
13 1.460 1.000 0.870 Z 0.670 3
14 1.050 0.800 Z 2.150 2
15 3.800 FH 0.200 1
16 1.000 2.620 Z 0.380 2
17 1.000 1.970 F 1.030 2
18 1.000 2.270 Z 0.730 2
&t 30




B —MNEHFE

(=3 £ GX ¢ 75mm GX ¢ 100mm =t
BARIE R 403.285 1.26
H oK E 5 3 0

0.664 0.664 0.664
(Z I ] 401.293] 1.26] 0] 402.553 |
EEEEEE 401.3 | 1.3 0.0 | 402.6 |
HERFRT—TEHFE
(=4 2 ¢ 75mm ¢ 100mm 2
=N (=g 84 0
7] =g 18 0
Mok R 479.4 0 479.4
1ARH7=D 4.7 5.2
EEEIRE 23.97 0 0 24]

#%:/20m



1k K RERBHI AL AL

e Hikk % BV
F Ry Sy &
HIVPEE ¢ 50mm ZN
HIHARN Ty MIA—Fa=F ¢ 50mm 1E
HI= /LR ¢ 50mm 1E
HI& B AL T ok ¢ 50mm 1E]
A= L7 ¢ 50mm ]
E T LR ¢ 65mm X ¢ 50mm ]
KT X 75— &
Gl S LT IR T A ¢ 150mm ]




it = &



WMEEE

VP ¢ 7omm
w®oOE L B 1% B | H 7
EE D LT HEAL VP ¢ 75 393.6 m
e £ & b W T VP ¢ 75 115.0 u
o= ' OE R & 4t L=25kmLL F [
W o= B WL 4 % 3.2 m




mMEEE
DIP ¢ 75mm ¢ 100mm

OB L B 1% ¥ B | WL
wmEE®m EFHEIAT DIP ¢ 75 4.5 m
WmEE®m EFHEIAT DIP ¢ 100 2.2 m
it £ & W W L DIP ¢ 75 1 =
WMoE F O # O & | 4t L=25kmPLF [
W = B L 5 # AT T 0.1 t
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S T

o) @
TRAKE FRAKERE
sk | g
¢ 13~ ¢ 50| ¢ 20~ ¢ 25
HE 397 | HE 397
GiES Dl t=hcm 11.0 15.6 26.6 27
shsspgEgET |
0.20BH t=10cmPA T 45.4 4.3 49.7 50
HEpE T 0.20BH 34.0 5.0 39.0 39
A T AT 5.9 0.0 5.9 6
HRET(&KEL) 0.20BH 11.8 0.0 11.8 12
HERT (BE+) 0.20BH 6.8 3.5 10.3 10
HERET (BE+) AT 5.9 0.0 5.9 6
Ay T FEA A+ 26.4 1.1 27.5 28
Ay T AS 2.3 0.2 2.5 3
FAEAE | L
TRk t=19cm 45.4 4.3 49.7 50
NGy v SR I I R IR
gk T t=15cm 45.4 4.3 49.7 50
FAEBRIET A2
FE T (HE) t=5cm PK3 45.4 4.3 49.7 50




IERAERTER

Z T4 .
Ta T fft 4 ik PN
BEE +i0 .
©) KEKE HijE HIVP ¢ 13~ & 50 1.20 75.60
@ HAKEWE B HIVP ¢ 20~ ¢ 25 0.80 7.20




+TITHEE
HiE 3978
Bk

HIVP ¢ 13~ ¢ 50mm DP=0.8m

RET AR O L (LT T-0) 2ok (0.5%1.0%0.9=0.4511)
) B 1k (0.5%1.0%0.3=0.1513)
TR ERE HIVP ¢ 20~ ¢ 25 BEMdEE 0.750 m
i 0.05 m MR 0.260 m pokek B4
BIEOME 0.020 m iR 0.150 m AL
AR B 0.026 m Bz 019 m  FERE
IREIE 060 m Bk 0.15 m R
AS 0.05 m
PEHIIE 75.60 75.6
EREERRYIM T
t=5cm 4.00 2 + 0.60 X 5 = 11.0
ESERREUE T
As t=10cmLL T 75.60 0.60 = 45.4
AR T
75.60 0.60 X 0.750 = 34.0
NVALE < =T i) &P
0.45 12 + 0.15 X 3 = 5.9
HET (&E+)
0.60 0.26 - 0.026 2
7 - ) X 75.60 = 11.8
HMET (41)
75.60 0.60 X 0.15 = 6.8
ANERT G&4+)
5.9
Ay T R+
34.00 6.80  + 0.9 = 26.4
¥+ T(AS)
45.40 0.05 = 2.3
NEL R
HAYARE t=19cm 75.60 0.60 = 45.4
RC-40
b JE A T
FAERIFEE t=15cm 75.60 0.60 = 45.4
RM-40
=AM
F/EBRIEET 232 t=5em 75.60 0.60 = 45.4
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+TRHEE
HE 397
WAKERE

HIVP ¢ 20~25mm 3 1% it

fEfl P HIVP ¢ 20~ ¢ 40 FEbkdEE. 1150 m
EZENRE 0.05 m MR 0810 m FAET
B IO 0.020 m ¥AE 019 m B
AR EAME 0.026 m W 0.15 m  _FERE
RIS 060 m AS 005 m
PRHIAE R 7.20 7.20
AT IR T
t=5cm 7.20 2 + 0.60 X 2 = 15.6
EAE R T
As t=10cmPL F 7.20 0.60 = 4.3
FAR R I T
0.60 1.15 - 0.026 2
b - 4 X 7.20 = 5.0
MERET (L) 7.20 0.60 X 0.81 = 3.5
Ay TREAT) Fg
5.00 3.50 = 0.9 = 1.1
AL T(AS)
4.30 0.05 = 0.2
T E AR T
FAESARE t=19cm 7.20 0.60 = 4.3
RC-40
LA T
FARIFEE t=15cm 7.20 0.60 = 4.3
RM-40
EI=AN
FEERIEEY 23 t=5cm 7.20 0.60 = 4.3
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®OE L B ¥ & B
M E AL =0 A e L 613 1.0 m
i E e = v AR L ¢ 20 22.2 m
W E AL =0 A e L $ 25 18.2 m
i E b e = v AR L ¢ 30 19.7 m
M E AL =0 A e L ¢ 40 7.3 m
il EH ke = L& A 5% L ¢ 50 3.0 m
RV 4 oK kR A T DIP ¢ 75X ¢ 20 10 &G
RV 4K AT DIP ¢ 75X ¢ 25 7 (EGh
RV 4 oK kR A T DIP ¢ 75X ¢ 30 7 &G
RV 4K B AL DIP ¢ 75X ¢ 40 5 (EBD
RV 4 oK kR A T DIP ¢ 75X ¢ 50 1 &G
= 7 Jid f+ T ¢ 20~ ¢ 50 30 & AT
BISS/ SR = S SR B 620 4 & AT
RIS/ D S A ¢ 25 3 & F
BISS/ SR = S SR B ¢ 30 4 & AT
RIS/ SR D S A ¢ 40 1 & F
'Ok & W T 613 1 & AT
®= oKk @ It I ¢ 20 1 & F
'Ok & W T 625 1 & AT
I N - SRR R = R 613 9 & T
fwoKk B M B L ¢ 20 12 & AT
G N - SRR R = R ® 25 2 & T
fwoKk B M B L ¢ 30 1 & AT
G N - SRR R = R ¢ 40 2 & T
fBwoKk B M B L ¢ 50 1 & AT
¥ W or ¥y — b+ L 57.4 m
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10cm 0.240 0.0000
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